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1 21 3 4 516 7 8 9 | 10 11| 12 | 13 14 15] 16 17 18 19
Binobepesbke 1 1 7.1 - - - 10C3 76 [ 0,7 | 1| 23 30 340 |3(e)| CPB |BcuxaHHhs 22 § 2
binobepesbke 1 3 2,1 - - - 10C3k 57 108 | 2| 17 16 280 {3(e)| CPB |BcuxaHHus 20 ° g %‘%
binobepesbke 1 5 0,7 - - - 10C3 76 { 0,8 1| 24 | 26 420 |3(e)| CPB |BcuxaHHsa 21 :'f & & E
binobepesbke 1 9 3,5 - - - 10C3 76 1 0,7 | 1| 24 28 360 |3(e)|{ CPB |BcuxaHHa 22 « § E 2
Binobepesbke 1 18 | 2,1 - - - 10C3 86 | 07 ] 21 24 30 340 3 CPB | BcuxaHHAa 25 2 =




binobepesbke 1 23} 0,9 10C3 71107111 25 28 380 3 CPB | BcuxaHHA 23
binobepesbke 2 1 3,4 10Csk 76 1 06 )11} 24| 28 320 |3(e)| CPB |BcuxaHna 26
binobepesbke 2 2 0,6 10C3 8 | 0611 26 32 340 |3(e)|{ CPB |Bcuxanns 20
binobepesbke 3 6 1,8 10C3 76 1 0,8 ] 2| 22 26 370 |3(e)| CPB |BcuxaHHAa 20
binobepesbke 4 | 24 1 61 10Cs+43 76 { 07| 2| 22 24 320 |} 3(e)| CPB ]BcuxaHHa 27
binobepesbke | 4 | 28 | 2,1 10C3 71108411 | 25| 30 430 |3(e)| CPB | BcuxanHa 26
binobepesbke | 21| 6 8,6 10C3+bn+Bau 9 | 0,7 ] 1] 28 | 36 420 | 3(e)| CPB | Bcuxanus 24
binobepesbke | 21 | 16 | 0,8 10C3 86 [ 07| 1] 28 | 28 440 |3(e)| CPB | BcuxaHna 34
binobepe3dbke | 21 | 17 | 2,6 10C3 86 | 0,7} 1) 25| 30 380 |3(e)| CPB | BcuxaHHs 21 o
binobepesvke | 21| 24 | 1,4 10C3 76 {07 |11 26 | 28 400 |3(e}] CPB |BcuxaHHA 25 n:>
binobepesbke | 21| 26 | 2,5 10C3 61 108 )2| 19| 22 300 |3(e)| CPB |BcuxaHHn 32 g
9C31bn+0c+Bau+/], m
Binobepesbke | 30 2 2,9 3 5108 1] 19 | 22 290 {4(e})| CPB |BcuxaHHa 21 %
Ginobepesbke | 38 5 1,8 8C32C3+CH 76 1 0,7} 2] 22 24 340 |4(e)| CPB [BcuxaHHAa 25 E
binobepesbke § 38 | 11 | 3,1 10C3+bn 76 1| 0,8 3| 16 22 220 |4(e)| CPB |BcuxaHHA 26 §
bino6epesvke | 38| 18 | 1,2 8C32C3+3+bn 66 y 0,71 1] 22 24 330 |4(e)| CPB [BcuxaHHa 24 =
binobepesbke | 38 [ 21 | 0,6 7C33bn 40 10711 15| 16 150 |4{e)} CPB |BcuxaHHs 21 §~
binobepesbke | 44 8 1,4 10C3 66 | 0,8 16| 28 30 480 3 CPB | BcuxaHHA 24 =
6C316n1Bny2C3+[ 8
binobepesbke | 44 | 14 | 4,6 3+Bpn 64 | 0,7 |[16] 28 | 30 370 3 CPB | BcuxaHus 25 ;
binobepesbke | 57 5 0,8 10C3 49 10812} 15 14 220 |4(e)| CPB |BcuxaHHs 20 §
binobepesbke | 73 7 1,4 10C3 7110711 23 26 340 |4(e)| CPB |}BcuxaHus 21 [3:_,‘*
binobepe3bke | 73| 8 0,2 10C3 71106 | 1] 25| 30 320 (4(e)| CPB |BcuxaHHs 20 g
Binobepesbke | 29 | 14 5 10C3+6n 71 007 {2} 20 | 24 280 |4(e)} CPB |BcuxaHHhs 20 2
binobepesbke | 33| 33 | 3,8 10C2 76 1 0,6 j1la| 27 | 30 360 |4{e)| CPB |BcuxaHHs 22 E‘r
binobepesbke | 69 | 14 | 5,8 8C32C3 75 107 ] 1} 24 ] 28 330 |3(e)} CPB |BcuxaHHs 21 o
bino6epesbke | 71 | 22 | 2,6 10C3+C3 70 107 { 1| 24 26 360 |4(e){ CPB }BcuxaHHa 21
Possaxiscbke 7 15 3 10C3 711071 1] 25 28 380 |4(e)| CPB |BcuxaHHs 45
Possaxiscbke | 7 | 14 | 2,3 10C3+[3 61 { 0,7 |1a| 24 | 28 360 }4(e)| CPB |BcuxaHHs 45
Po3Basiscbke 7 8 2,8 6C32320c¢ 71 106 ) 1| 24 | 32 270 |4(e)| CPB |BcuxaHua 40
Po3BaxiBCbKe 7 7 0,6 9C316n 61 {07 ) 1] 21 24 270 |4(e)| CPB |BcuxaHHun 30
Po3saxiscbke | 34 | 12 | 18,4 10C3 66 { 0,8 | 1a}| 26 28 450 {4(e)| CPB |BcuxauHsa 50
Possawiscoke | 34| 20 | 9,4 10Cs 52 108 (16| 24 | 26 410 |4{e)| CPB |BcuxanHsa 50
PossaxiBcbke | 49 | 29 | 1,5 6C33C316n 60 { 051 21 24 200 |4(e)| CPB |BcuxanHs 40
47 8 5,6 10C3+6n 5170811 1) 18 20 270 | 4(e)| CPB |BcuxaHHhs 35

Po3BaxiBcbke




PosBaxiBcbke | 40| 19 | 2,4 10C3+AK6 61 | 0,6 |1a] 24 32 310 |4(e)| CPB |BcuxaHusa 35
PosBsaxiBcbke | 39 | 36 1 10C3+/43 54 | 0,6 |1la| 22 26 270 |4(e)| CPB |BcuxaHHA 50
Possaxiscbke | 39 | 51 1,2 10C3 61 |1 0,6 |1a] 25 28 320 |4(e)| CPB |BcuxaHns 40
Possaxiscoke | 44 | 20 5 10C3+Bnu+Akb 66 | 06| 1] 24 | 26 310 |4(e)| CPB |BcuxaHHa 50
PosBaxiBcbke | 47 2 2,5 10C3 5110811} 18 18 280 |4(e})|{ CPB |BcuxaHhn 50
PossaxiBcbke | 451 17 | 4,4 10C3+6n 58 106 2] 19 | 22 220 |4{e)| CPB |BcuxaHHs 410
PossaxiBcbke | 39 | 49 | 1,2 10C3 46 | 0,8 16| 22 24 360 {4(e)| CPB |BcuxaHhs 45
Possaxiecbke | 11| 16 | 4,1 10C3+bn 63 | 0,7 |1a] 24 | 28 370 | 4(e)| CPB |BcuxaHHs 50 o
PossaxiBcoke | 11 | 20 | 2,9 10C3 5 [ 06 |16| 26 | 28 210 |4(e)| CPB |BcuxaHHA 40 a:
PossaxiBcbke | 11 | 21 | 1,8 10C3+bn 46 | 061 1] 18 22 210 | 4(e)| CPB |BcuxaHHsa 40 E
PosaxiBcbke | 11| 22 | 1,2 9C316n 61 [ 0,6 | 1a| 23 26 280 |4(e)| CPB |BcuxaHHA 45 ﬁ
PosBaxiscbke | 11 | 23 1,4 10C3+3+46n 61 | 0,7 |1a| 25 32 380 |4(e)| CPB |BcuxaHHa 45 =
Possaxiscbke | 13 | 39 2,6 10C3 56 { 0,6 |16 27 32 360 3 CPB | BcuxaHHhsa 30 E
PossaxiBcbke | 14 8 2,4 10C3 56 | 0,7 |1a| 22 24 320 3 CPB | BcuxaHHAa 40 §
PossaxiBcbke | 14 | 19 0,7 10C3+Bny 56 { 06| 1 21 24 270 3 CPB | BcuxaHhs 40 ;‘g
PosBaxiscbke | 14 | 20 | 0,9 10C3+Bny 56 106 1}| 21 24 270 |3(e)| CPB |BcuxaHHa 40 §.
Po3BaxiBscbke | 66 { 20 | 3,8 10C3 61 ] 0,7 }1a| 23 26 340 |4{e)| CPB |BcuxaHHs 50 &
PosBaxiBcbke | 67 2 5,7 10C3 61 { 0,7 |1a]| 24 28 350 |4(e)| CPB |BcuxaHHa 50 ,8,
PosBaxiscbke | 67 6 | 11,6 10C3 61 ] 0,7 {1a] 23 28 320 ]4{e)| CPB |BcwuxaHHA 50 ';
Po3BaxkiBcbke | 19 9 11 10C3 49 | 0,6 |1a| 21 24 260 |4(e)|{ CPB }]BcuxaHHA 50 §
PozBaxiBcbke | 21 9 11 10Cs 61 107 ] 1 22 26 300 |4(e)| CPB |BcuxaHHsa 45 §*
Possaxkiscbke | 20 | 18 1,5 10C3 66 | 0,7 |1a]| 25 28 380 3 CPB | BcuxaHHs 40 g
PossaxiBcbke | 20 | 19 1,9 10C3 66 | 0,8 | 1a| 26 32 460 | 3(e)| CPB |BcuxaHHns 40 2
PossaxiBcbke | 20} 24 | 0,2 8C32bn 40 1057111 17 20 160 3 CPB | BcuxaHHA 35 -E‘
PosBaxiscbke | 20| 26 | 0,3 10C3+bn 40 | 0,5 |1a| 19 22 200 3 CPB | BcuxaHHa 30 o
PossaxiBcbke | 20§ 22 | 0,1 6C34bn 40 |1 0471 17 18 110 3 CPB | BcuxaHHA 25
ObyxoBuupbke | 87 7 1,1 10C3+bn+/3 86 | 0,7 |1a| 29 36 460 2 CPB | BcuxaHHs 55
Obyxosuubke | 87 5 1,5 10C3+bn 86 | 0,7 |1al 29 32 480 2 CPB | BcuxaHHa 48
O6yxosuupke | 88 2 3 10C3 95 | 0,7 |1a]| 30 36 480 2 CPB | BcuxaHHA 60
Obyxosuupke | 87 | 6 2,6 10C3+43 106 06| 1] 29 36 400 2 CPB | BcuxaHHsa 60
Obyxosuubke | 88 8 6,3 10C3+bn+/13 101107111 29 36 460 2 CPB | BcuxaHHa 50
Obyxosuupke | 88 | 10 | 0,7 10C3+6n 101 0,7 | 1a| 33 36 540 2 CPB | BcuxaHHs 60
Obyxosuubke | 70 | 12 | 3,8 8C32bn 70 | 0,6 | 1a| 27 28 310 {4(e)| CPB |BcuxaHna 55
Obyxosuupke | 70 | 15 3 8C32bn 75 | 0,7 | 1a| 27 28 360 |[4(e){ CPB |BcuxaHHa 55
Obyxosuubke | 62 2 9 8C3131bn+I3+0c| 76 | 0,8 { 1a| 29 36 500 |4(e)| CPB |BcuxaHHha 60




23

O6yxoBuLbke 19 3 10C3+43+0c 75 { 0,7 {1a| 29 { 36 490 |4{e)| CPB |BcuxaHHa 50
ObyxoBuubke | 23| 12 | 24 8C316n10c 80 | 0,8 |1a| 30 36 480 |4(e)| CPB |BcuxaHHs 55
ObyxoBuubke | 24 | 2 4,5 8C31r3143+0c 80 | 0,7 |16} 31 ] 36 400 |4{e)|! CPB |BcuxaHHA 60
ObyxoBuupke | 11| 4 22 10C3 75 [ 0,7 | 1a| 29 32 440 |4{(e)| CPB |BcuxaHHA 55
O6yxosuupbke | 11 1 2,1 10C3 64 0,84 1a| 26 28 400 |4{e)| CPB |BcuxaHHA 60
Obyxosuubke | 11| 2 1,7 10C3 70 |1 0,7 1a| 26 | 28 430 |4(e)| CPB |BcuxaHhs 60
O6yxosuupke | 11| 3 1,2 10C3 64 { 0,7 1] 24 | 32 360 |4(e)| CPB |BcuxaHHA 60
Ob6yxosuubke | 12 | 17 | 14,5 8C32bn 75 10,7 {1a| 29 | 36 400 |4(e)| CPB |BcuxaHHn 65 %
OG6yxoeuupke | 12 | 10 | 16,8 10C3+bn+43 76 | 0,8 |1a| 29 | 32 490 |4(e)| CPB |BcuxaHHA 55 2
O6yxoeuupke | 12| 18 | 1,8 10C3+bn 61 | 08 |1a| 26 | 30 440 |4(e)| CPB |BcuxaHHa 60 E
O6yxoeuupke | 12 |1 11 | 3,6 9C316n+BAy 66 { 0,8 |16 28 | 32 440 |4(e)| CPB |BcuxaHHs 60 2
JleoHiBCbKe 90| 3 6,8 10C3+bn+/3 58 |08 1| 21| 22 350 |4(e)| CPB |BcuxaHHA 50 =
JleoHiBcbke 90 6 2,4 10C3+6n+0c 56 | 0,8 |1a| 22 24 370 |4(e)| CPB |BcuxaHHA 45 =
JNleoHiBcbKe 74| 1 4,5 10C3+43 66 | 0,8 1] 23 24 380 |4(e)| CPB |BcuxaHHA 60 2’
JleoHiBcbke 74| 9 1,2 10C3 66 | 0,81 1| 23 24 380 |4{e)| CPB |BcuxaHHs 40 =
JleoHiBcbke 64| 26 | 2,2 9C316n+A3 66 0,81 1] 22 | 24 360 |4(e)| CPB |BcuxanHsa 35 §
JleoHiBcoke 61 1 9,6 9C31/43 73 | 0,7 {1la| 28 30 420 |4(e)] CPB |BcuxaHHA 55 §
JleoHiBcbke 61 2 7,4 10C3+/13 76 | 0,7 | 1a| 28 32 430 |4(e)| CPB |BcuxaHha 60 B
JNleoHiBCbke 51| 6 51 10C3+03+6n 71 1 08 |1a| 26 | 30 450 [4(e)| CPB |BcuxaHHA 45 -§
JNleoHiBcbKke 51| 15 | 41 10C3+43+bn 71 108 | 1| 24 | 28 410 |4(e)| CPB |BcuxaHHA 55 ‘|
JleoHiscbke 50| 13 | 5,1 10C3+/43+6n 71 [ 0,8 | 1a| 26 30 440 |4{e)| CPB |BcuxaHHns 55 E
JNleoHiBCbKe 50| 18 | 1,2 10C3+6n+13 76 1 08{ 1| 25| 28 420 |4{e)| CPB |BcuxaHHs 45 §
JNleoHiBcbke 50} 25 | 2,8 10C3+43 76 1 0,7 {16 30 | 32 460 |4(e)| CPB |BcuxaHHs 55 =
JNleoHiscbke 90| 18 | 2,8 6C32/310c1bn 71 1081 1] 25 30 300 |[4(e)| CPB |BcuxaHHA 45 (E,
NeoHiBcbke 771 16 | 13 10C3+03 55108 2] 18| 20 270 {4(e)| CPB |BcuxaHHa 30
JleoHiscbke 77| 4 5,6 10C3+6n 66 1 08| 2] 19 | 22 300 |4(e)| CPB |BcuxaHHa 45
NeoHiscbke 64 4 6,6 10C3+bn 71 108 | 1] 22 26 370 |4(e)| CPB |BcuxaHHA 55
NeoHiscbre 59| 15 | 1,7 10C3 66 [ 08| 1| 23 28 390 |4(e)| CPB |BcuxaHHn 30
NeoHiBcbKe 57| 22 2 10C3+bn 76 107 | 1] 24 | 28 360 |4{(e)| CPB |BcuxaHHa 45
NeoHiBcbKe 571 24 {11 7C316n2C3 66 | 0,7 2] 18 | 18 260 |4{e)| CPB |BcuxaHHa 40
NeoHiscbke 93| 4 2,3 10C3+bn 50 108{ 1] 18 22 270 |[4(e)| CPB |BcuxaHHsa 55
JleoHiscbke 90| 19 | 1,3 7C310c2bn+/43 66 | 0,6 | 1a| 26 30 290 |4(e)| CPB |BcuxaHHs 30
JleoHiscbke 91| 12 | 21,5 10C3 66 | 09| 1] 22| 24 380 |4(e)| CPB |BcuxaHHA 55
JNleoHiBcbke 91| 19 | 12,5 10C3 66 | 09| 1] 22 24 400 |4(e)| CPB |BcuxaHHA 60
JleoHiBcbke 57| 10 2 10C3+6n 76 { 07| 2| 22 30 330 }4(e)| CPB |BcuxaHHA 55




JleoHiscbKe 70 2 3 - - - 10C3+bn 57 108}1| 21 | 24 340 |4(e)| CPB |BcuxaHhs 55
JNleoHiscbke 61 8 1,7 - - - 10C3 66 | 0,7 |1a}| 25 28 380 |4(e)| CPB |BcuxaHHsa 60
JleoHiscbke 66 | 23 | 2,7 - - - 8C326n+43 76 10811 24 | 30 340 |4(e)| CPB | BcwxaHHs 55
JNleoHiBcbke 871 20| 7.1 - - - 10C3+3+bn 66 (0,7 ]| 2] 20 | 22 280 |4(e)| CPB |BcuxaHHa 45
NeoHiscbke 2 11 7 - - - 10C3+3 81 |06 |1al 29 | 32 400 |3(e){ CPB |BcuxaHHA 35
JleoHiBcbKe 2 6 4 - - - 6C3133C3 66 | 0,7 |1a} 25 26 400 |3(e)| CPB |BcuxaHHs 30
JleoHisCbke 5 5 4,3 - - - 10C3 590 108 |1la]| 24 | 24 410 | 3(e)| CPB |BcuxaHHa 50
JleoHiBcbke 26§ 7 {185 - - - 10C3 76 | 0,7 t1la(| 27 | 26 420 |4{e)| CPB |BcuxaHHa 30 %
NleoHiscbke 27 7 1,2 - - - 10C3+bn 61 108 1] 21 24 340 |4(e)| CPB |BcuxaHHha 25 2
NeoHiscbke 341 35| 1,2 - - - 9C31/[3 76 1 0711 25 | 28 370 |4(e)| CPB [BcuxaHhsa 55 E
JleoHiBCbke 40 | 12 3 - - - 10C3+/13 76 | 0,8 |1la| 27 30 480 |4(e)| CPB |BcuxaHHs 40 o
JleoHiBCbKe 40 | 13 3 - - - 10C3+A3+0c+bn | 71 | 09| 1 | 25 30 490 |4(e){ CPB |BcuxaHHA 35 =
JNleoniBcbke 40| 14 | 4,2 - - - 9C3143+0c+bn 76 | 0,8 {1a}| 27 | 30 460 |4{e)|{ CPB |BcuxaHns 40 =
NeoHiscbke 4117 3 8 - - - 9C313 76 108 1| 26 | 30 410 |4(e)| CPB |BcuxaHHusa 30 2
Neowiscoke | 41| 6 | 66 | - | - - 10C3+[13 66 [ 071 1] 24 | 26 | 360 [4(e)| CPB |BcuxaHHs 30 §
JNleoHiscbke 45 | 10 | 4,3 - - - 6C34bn 66 [ 0,7 | 1| 22 24 260 |4(e)| CPB |BcuxaHnAa 25 e
NeoHiBCbKe 44 4 2,1 - - - 9C31/3+6n 66 10,781 1 | 22 26 370 |4(e)| CPB |BcuxaHHa 30 §
JleoHiscbke 52 ) 17 | 1,2 - - - 10C3+6n+Bny 76 [ 0,7 ] 1] 25 28 380 |4(e)] CPB |BcuxaHHa 30 i
JNleoHiBcbke 521 18 | 0,9 - - - 10C3+bn 66 | 08| 1} 24 28 410 j4(e)| CPB |BcuxaHHa 25 g
J/leoHiscbke 52 | 23 { 48 | (1) | 43| 43 10C3+bn 76 { 0,7 | 1| 24 28 360 |4(e)| CPB |BcuxaHnsa 35 ‘5.
JNleoHiBcbke 52| 24 | 1,7 - - - 10C3 64 | 0,7 ] 1] 22| 24 320 |4(e)| CPB |BcuxahHus 30 %
JNleoHiscbke 55 8 6,9 - - - 8C32bn+3 66 | 0,7 1 1] 22 24 300 |4(e)| CPB |BcuxaHHs 25 §
NeoHiscbke 56| 4 2,5 - - - 10C3+3 50 08| 1] 20| 18 310 |4(e)| CPB |BcuxaHHsA 25 &
JleoHiBCbKe 81 6 1,6 - - - 8C32bn 61 | 0,7 |1a| 23 24 320 {4(e)| CPB |BcuxaHHA 30 o,:,
JleoHisCcbke 81| 13 1 - - - 8C32bn 66 | 0,7 |1la| 25 30 330 |3(e)] CPB |BcuxaHHs 30
NeoHiBcbke 81| 8 0,5 - - - 8C32bn 66 | 0,7 | 1la| 25 30 330 |4(e)| CPB |BcuxaHHA 35
NeoHisCbke 81| 14 | 0,3 - - - 9C316n 76 | 0,7 1| 26 30 390 {3(e)| CPB |BcuxaHHA 30
JleoHiBCbke 26 6 2,6 - - - 10C3+13 66 [ 0,8 1] 23 24 380 |4(e)| CPB |BcuxaHHA 30
JleoHiBCbke 2 6 4 - - - 6C31/433C3 66 | 0,7 1la| 25 26 400 |3(e)| CPB |BcuxaHhs 30
Makapiscoke | 48 | 33 3 - - - |34336n2BaylOcilfy 80 | 0,7 | 3 | 20 24 200 |4(e)| CPB |BcuxaHHA 11
Makapiscbke | 48 |1 24 | 1,3 - - - 1043 76 1 0,7 ] 3| 16 16 160 |4(e}| CPB |BcuxaHHs 11
Makapiscbke 5 19 4 - - - 1043 56 (074{ 1 19 20 210 |{4(e)| CPB |BcuxaHHa 10
Makapiscbke 5 15 | 2,5 - - - 1043 66 | 0,7 | 21 20 20 230 | 4(e)! CPB |BcuxaHHA 10
MakapiBcbke 6 2 |285] - - - |9p31C3+bn+Bau+0q 66 [ 0,6 | 2 | 19 | 24 200 |4(e)| CPB |BcuxaHHa 14
Makxkapiscoke | 501 20 | 1,8 - - - 10C3 66 | 0,8 [1a| 25 26 430 |4(e)| CPB |BcuxaHHus 50




Makapiscbke | 50§ 24 |} 0,5 - - - 10Cs 76 | 0,711} 26 30 400 |4(e)| CPB |BcuxaHHa 40
Makapiscoke | 501 25 | 0,6 - - - 10C3 66 | 0,7 jla| 25 24 380 |4(e)| CPB |BcuxaHHsa 40
Makapiscbke | 50 1 29 | 0,8 - - - 10C3+Bn+0c 76 | 0,7 |1a| 28 | 30 440 |4(e)| CPB |BcuxaHHa 30
Makapiscbke | 241 23 | 1,8 - - - 10C3 76 1 0,81 1] 25 24 430 |4(e)| CPB |BcuxaHHsa 30
MakapiBcbke | 24 | 22 | 3,2 - - - 10C3 76 1 0,7 1] 26 28 400 |4(e)| CPB ]BcuxaHHs 35
Makapiscbke | 251 21 | 1,3 - - - 10C3 76 1 08| 1] 26 | 26 450 |4(e)| CPB |BcuxaHHa 40
Makapiscoke | 25 1 ;105 - - - 10C3+bn+/13 76 10,71 11| 25 26 380 |4{e)| CPB |BcuxaHHs 70 o
Makapiscbke | 66 | 3 1,1 - - - 10C3 61 | 0,8 |1a] 23 26 390 |4(e)| CPB |BcuxaHHA 45 =
Makapiscbke 1 5 7 - - - 10AKk6 301073 11 14 70 4 | CPB {BcuxaHHsa 15 2
Hepescbke 41 9 3 - - - 10A3+C3+l3 150 05 3] 26 40 230 4 CPB | BcuxaHHs 30 m
MepescbKe 42 6 7 - - - 943113 1501 06 | 2 | 27 40 270 4 CPB | BcuxaHHa 27 2
MepeBscbke 44 2 7,5 - - - 8032I3+C3 1701 06 | 2| 28 48 270 4 CPB | BcuxaHHs 28 =
Mepescbke 3 50 | 3,8 - - - 5A34C316n+0c | 100} 0,6 | 2 | 25 32 280 ] 4{e)| CPB |BcuxaHHus 25 m
¥epescbke 1149 | 3,8 - - - 9031C3+bn 1051 06 | 1] 28 | 36 290 |4(e)| CPB ]BcuxaHHsa 30 [
Hepescbke 10§ 31 | 45 - - - 19A31C3+bn+0c+l3| 81 | 06 | 1] 26 | 28 270 {4{e)| CPB }BcuxaHHa 30 W
Hepescbke 10 | 33 9 - - - 14433I32bn1C3+0c| 8 | 0,8 | 1] 25 | 28 290 j4{e)| CPB |BcuxaHHa 28 m
¥epeBcbKe 111 23 (10,6 - - - 1003+C3+bn+l3 81 107 ] 2] 23 26 290 |4{e)| CPB |BcuxaHHs 24 8
] 5033r316n10c¢+C3 m
Hepescbke 39| 12 | 24 - - +Bny 8 | 071} 27 ] 32 240 | 4{e)| CPB |} BcuxaHHA 21 m
¥epeBcbke 93| 18 | 64 - - - 60132C316n10c+I3| 8 | 06 | 1 | 26 | 32 290 | 4{e)| CPB |]BcuxaHHs 26 .mP
) 3/433r320c16n1Bn 5
Hepescbke 93] 15 | 51 - - y+C3+A3+Knr 81 {07 1] 24 32 240 | 4(e)| CPB |BcuxaHHs 25 g
5434731bn+A3+Bn .m
¥epescbke 94| 1 | 38| - - 4+0c 8 | 0,8 1| 26 | 28 270 |4(e)| CPB |BcuxaHua 27 ok
Xepescbke 941 16 | 2,3 - - - |7h32Bnyllrs+fAs+bn| 86 | 0,7 | 1 | 25 28 290 |4(e)| CPB |BcuxaHHsa 25
6[32M316n10c+C3
Xepescoke [108{ 3 | 2,8 | i ) +Bay 8 | 08| 2] 23| 26 | 260 |4(e)| CPB |Bcuxanna 29
Hepescbke 11| 2 1,4 - - - 10C3+3+bn 86 | 0,7 11a] 29 | 36 4(e)| CPB |BcuxaHHa 40
epescbke 631 13 | 0,3 - - - 10C3 76 | 0,6 | 1a| 27 32 360 |4(e)] CPB |BcuxaHHs 45
Mepescbke 1 53111 - - - 10C3+bn 8 | 0,7 {1a] 29 32 4(e)] CPB | BcuxaHHA 40
Hepescbke 531 11 | 0,9 - - - 103c¢ 110 06§ 2 | 27 30 4(e)| CPB | BcuxaHHa 40
Hepescbke 124 23 1 - - - 10C3 8 | 071 1] 25 32 4(e)]| CPB | BcuxaHHsa 20
Hepescbke 8| 25| 09 - - - 10C3+bn+13 8 | 06} 1] 28 32 410 |4(e)| CPB |BcuxaHHsa 40
Xepescbke 119} 24 1 0,8 - - - 10C3+3+6n 76 1 081 1] 25 28 440 |3{e)| CPB |BcuxaHHsa 50




Hepescbke 108} 21 1,4 10C3+bn 66 | 0,7 ] 1] 24 28 350 |4(e)| CPB |BcuxaHHa 30
Hepescbke 119 23 2,2 8C31/316n 90 | 0,7 | 1| 26 32 380 }3(e)| CPB |}BcuxaHHa 50
HepeBCbKe 119| 19 2,4 10C3+bn+0c 81108 1] 25 32 420 | 3(e})| CPB |BcuxaHhs 55
Wepescbke 112 13 | 9,9 10C3+bn 86 (06| 1| 26 | 28 360 |3(e)| CPB {BcuxaHHA 50
WepeBcbke 112] 10 9 10C3+6n 86 [ 071 1] 26 | 32 380 |3(e)| CPB |BcuxaHHa 50
HepeBscoke 107 27 | 0,7 10C3+fine 47 {09 ] 1] 18} 20 290 |4(e)| CPB |BcuxaHHs 40
¥epeBcbKe 84 ) 23 1 10C3 8 | 07| 1] 28] 32 480 |4(e)| CPB |BcuxaHHA 55
Kepescbke 97 ] 6 0,3 10C3 66 | 08| 1| 23 | 26 400 |4(e)| CPB |BcuxaHHs 50
epeBcbke 98| 2 0,9 10C3+bn+0c 66 | 08|11 23 | 26 410 |4(e)| CPB |BcuxaHHs 55
epeBcbke 84 1] 13 | 2,9 10C3+03+bn 61 | 07|11 22| 28 320 |4{(e)| CPB |BcuxaHHs 60
epescbke 119 2 1,5 10C3+[3+6n 76 1 0,81 1| 26 | 32 420 |3(e)| CPB |BcuxaHHAa 50
Xepescbke 107 33 | 1,6 10C3+3+bn 60 | 08 ] 1] 22 24 370 |4{e)] CPB |BcuxaHHA 40
HepeBCbKe 107| 34 | 1,8 10C3+Ane+bn 47 1 08| 1| 18 20 300 |4(e)| CPB |BcuxanHa 40
HepeBcbke 821 17 4 10C3 8 [ 07| 1] 26 | 32 430 |4(e)| CPB |BcuxaHHsA 55
epeBcbke 1081 23 | 1,6 10C3+bn 58 109|111 20 22 340 |4(e)| CPB |BcuxaHHA 30
HepeBcbke 120 9 1 10C3+bn 66 | 08| 1| 21} 24 340 |3(e)| CPB |BcuxaHha 45
Xepescbke 92 ] 11 1,7 10C3 51 108 }1a| 22 24 360 |4(e)| CPB |BcuxaHHa 55
Hepescbke 108 12 | 0,8 10C3+/3+bn 58 108 | 1| 22 24 350 |4(e)| CPB |BcuxaHHa 50
*epeBcbke 104} 26 | 3,6 9C31/43+fAne 531081} 21 24 340 |4(e)| CPB |BcuxaHHs 50
¥epescbke 104| 28 | 1,6 9C316n+3+0c 66 | 0,8 |1a| 25 | 28 410 |4(e)| CPB |BcuxaHHA 50
HepeBCbke 91 3 1,7 10C3+[3 66 | 0,6 | 1a| 27 28 360 |4(e)| CPB |BcuxaHHA 50
Yepescbke 118)] 25 1 10C3+bn+Bnay 76 | 0,8} 1] 25 32 440 |3(e)| CPB |BcuxaHHa 50
epescbke 127 12 | 1,5 10C3+6n 76 1 08 ] 1| 24 | 32 450 |3(e){ CPB |BcuxaHHa 40
HepeBcbke 126} 18 | 0,5 10C3 86 [ 07 ] 1) 27 32 420 |3(e)| CPB |]BcuxaHHs 50
*epescbke 118| 9 3,9 9C31bn 86 [ 08| 1| 26 32 420 |3(e)| CPB |BcuxaHua 40
*epeBcbke 121| 6 0,8 10C3+bn 91 | 0,7 ]| 1| 26 | 32 380 |3(e)| CPB |BcuxaHHA 70
epescbke 121| 18 | 6,4 10C3 96 | 0,7 | 1] 27 } 36 440 |3(e)| CPB |BcuxaHnHsa 40
Hepescbke 121 24 | 0,8 10C3 81 1081 1] 26 32 470 | 3(e}| CPB |BcuxaHHa 65
epescbke 121 17 2 10C3 86 | 08 ] 11| 25| 32 440 |3(e)| CPB }|BcuxaHHA 50
Hepescbke 121} 16 1 9C31bn 61 | 08| 1] 21 26 320 |3(e)| CPB |BcuxaHHsa 55
Hepescbre 1271 14 | 1,3 10C3+6n 1001 0,7 | 21 25 { 36 380 |3(e)| CPB |BcuxaHHs 50
HepeBcbke 104 21 | 3,2 8C31/31bn 66 | 07 | 1| 23 ] 26 300 |4(e)| CPB |BcuxaHHAa 50
Hepescore 95 | 17 4 10C3 5 1071 1 21 22 290 |4(e)| CPB |BcuxaHHa 60
HepeBcbke 73| 12 | 2,5 10C3 51 |1 08f11} 20 | 22 290 |4(e)| CPB ]BcuxaHHA 50

90 | 15 0,5 10C3 66 | 0,8 ] 21 20 22 320 |[4(e)| CPB |BcuxaHHa 40

HepeBCbKe




Hepepcbke 88 | 22 3,2 10C3 76 | 0,6 |1a| 29 32 390 |4(e)| CPB |BcuxaHHa 50
KepeBscbKe 891 20 ] 3,3 9C316n+[3 66 [ 08] 1] 24 | 28 410 |4{e)| CPB |BcuxaHHa 50 %
Kepescbke 103] 24 | 2,8 7C314310cl1r3+Anel 58 | 0,8 | 1a| 25 28 360 |4(e)| CPB |BcuxaHHA 50 32
epescbke 103} 15 | 1,3 9C313+l3 53 { 0,8 |1a| 23 28 400 |4(e)| CPB |BcuxaHHsa 50 E
Yepescbke 118 2 1 10C3+bn 61 109 1] 22| 24 410 | 3(e)| CPB |BcuxaHHs 40 o
HepescbKe 921 16 | 1,7 10C3+6n 66 | 08| 1| 23 24 390 |4(e)| CPB ]BcuxaHHa 45 =
¥epescbke 47 | 13 | 3,8 10C3 86 | 07|11 25} 28 410 | 3(e}| CPB [BcuxaHHa 50 =
MepescbKke 47 3 0,8 10Cs 86 [ 051 25 32 270 |3(e)| CPB |BcuxaHHA 60 2‘
epescbke 7 22 | 1,7 10C3+43 64 | 08| 1| 24 | 28 410 |4(e)| CPB |BcuxaHHA 50 =
*epescbke 24 1 3 7,6 10C3+03+6n+0c+M3| 66 | 0,7 | 16| 28 | 32 460 |[4(e)| CPB [BcuxaHHA 50 §
XepeBcbKke 25 | 12 9 10C3+A3+bn 76 | 0,8} 1| 26 32 440 |4(e)| CPB |BcuxaHHa 50 §
*epescbre 16| 2 4,5 10C3+bn 66 | 09| 1] 22 | 22 440 |4(e)| CPB }BcuxaHhs 50 B
*epescbke 31y 9 21 6C320326n+M3+0c| 63 | 0,7 {1la| 26 | 32 310 |4{e)| CPB |BcuxaHHsa 50 -é
epeBcbke 29 | 10 | 16,3 10C3+03+M3+Ak6 | 64 | 0,7 | 1| 24 | 26 350 |4(e)| CPB |BcuxaHha 50 ‘a.
¥epeBcbke 11| 12 3 10C3+43+6n 86 [ 0,7 |11 28] 36 400 |4(e)| CPB |BcuxaHHhs 410 r};
Kepescuke 13§ 10 | 2,9 10C3 63 | 071 22 24 320 |4{e)| CPB |BcuxaHusa 35 §
*epescbke 4 )26 ] 1,4 6C34bn+Bny+Oc | 71 | 0,8 | 1| 24 | 28 310 |3(e)| CPB |BcuxaHHa 45 =
Hepescbke 4133111 10C3+6n 69 | 07|11 23 | 26 340 |3(e)| CPB |BcuxaHhus 48 c%
Hepescbke 19 6 2,2 7C33bn+f3 531091 20 22 300 |4(e}| CPB |BcuxaHHsa 50
Kepescbke 47 4 5 10C3 81 {08 1] 25 28 420 |3(e)| CPB |BcuxaHHa 50
Hepescbke 481 17 | 2,6 10C3 8 | 07| 1] 27 | 32 430 | 3(e)| CPB |BcuxaHus 50
Hepescbie 36| 30 7,7 10C3+03+bn+0Oc | 64 ( 0,7 | 1 | 24 28 350 |4{e)| CPB |Bcuxanhusa 40
HepeBcbKe 53| 19 1,2 10C3 110 0,6 § 2 | 27 36 360 3 CPB | BcuxaHhs 40
Xepescbke 54 9 1,8 10C3 1051 06| 2| 24 36 290 3 CPB | BcuxaHHa 40
Hepescbke 51| 14 { 12,9 10Cs 71 { 08 1| 24 28 420 |3(e)| CPB |BcuxaHHa 40
Kepescbke 50| 16 10 10Cs3 71 10871 1| 24 28 400 |{3(e)| CPB |BcuxaHusa 50
Hepescoke 50 1 1,5 10C3 76 1 08| 1] 26 | 32 480 | 3(e)| CPB |BcuxaHusa 50
Hepescbke 471 18 |1 1,1 10C3 86 | 0,7 | 1| 27 32 450 |3(e)| CPB ]BcuxaHHs 40
epeBcbke 49 5 2,8 10C3 76 1 0,81 11 23 26 380 |3(e)| CPB |BcuxaHHs 50
deHeBnUbKe 3 15 | 3,5 10C3 86 {0711 28 32 400 |2{e)| CPB |BcuxaHHs 50
deHesunLbKe 3 8 3,5 10C3+Bay 91 | 07 ] 1] 28 36 440 |2{(e)| CPB }BcuxaHHA 40
PeHeBULbKE 3 27 | 4,3 10C3 8 | 08| 1] 28 38 500 |2(e)| CPB |BcuxaHHa 40
QPeHeBULbKE 7 6 | 205 10C3 76 1 0,7 | 1] 26 32 400 |[2{e)| CPB |BcuxaHusa 30
PeHeBuUUbKE 7 8 6,2 10C3 91 ] 0,7 | 1| 27 32 440 |2(e)] CPB ]BcuxaHHn 40 o
PeHeBuUUbKe 7 10 | 5,5 10C3 81 10711 27 32 450 |2(e)| CPB | Bcuxanus 20 é




PeHesuLbKE 9 31 ] 4,2 10C3+Bnu 71 1 08| 1] 25 28 450 | 2(e)] CPB |BcuxaHHa 25 @
deHeBULbKE 17§ 14 | 3,2 10C3+bn 60 { 0,8 | 1a| 26 26 470 }|4(e)|{ CPB |BcuxaHHs 30 3
PeHeBULbKE 201 23 | 3,8 10Cs 77 | 0,8 | 3| 18 24 250 |4{e)| CPB |BcuxaHHA 30 S
deHeBULbKe 21§ 21 | 8,5 7C33C3 71 108 | 11 23 24 420 | 3(e)| CPB |BcuxaHHn 60 %
dexesuupbre | 21 | 44 2 7C63C3 56 (08 3| 15 | 16 200 |3(e)| CPB |BcuxaHhs 25 2
deHeBULbKe 21| 69 2 10C3kK 5 | 07 2] 18 | 20 240 |3(e)| CPB |BcuxaHHA 10 g
®eneBuupke | 24 | 12 19 10Cs 76 | 0,7 | 1la| 27 { 30 440 |3(e){ CPB |BcuxaHHa 40 S
deHeBULbKe 27 3 |1145 10C3 76 1 0,8 1| 26 28 470 |4(e)| CPB |BcuxaHHa 35 %
deHeBuupke | 32| 21 | 5,8 10C3+bn 56 1 08 |1a| 22 22 330 |[3(e)| CPB |BcuxaHHa 40 _E_,’
deHeBULbKE 38 2 6,8 10C3 76 | 0,7 | 1] 25 28 380 |4(e)] CPB |BcuxaHHsa 35 o
dbeneBuUbKe 381 10 | 2,3 10C3 66 | 0,7 | 21| 18 | 24 240 |4(e)| CPB |BcuxaHHA 60 5
deHesnupke | 39 1 | 3,6 10C3 76 | 0,8 1] 23 | 28 | 380 |4(e)| CPB |Bcuxanna| 35 2
deHeBUUbKe 41 ) 18 | 55 10C3+bn 76 | 0,7 {1 26 30 400 |4(e)| CPB |BcuxaHHs 35 g
PeHeBuLbke | 42 1 0,6 10C3 71 10,7 | 2] 20 | 22 280 14(e)| CPB |BcuxaHHa 39 o
deHeBUlbKe 421 231 0,9 10C3 61 | 0,8 ia| 25 26 410 |4(e)| CPB |BcuxaHHn 26 ,g
DeneBnupke | 44 | 13 | 4,2 10C3 59 |1 0,8 |1la| 23 24 390 {4(e)|] CPB |BcuxaHhn 20 ™
PeneBuupke | 48 | 18 | 4,6 10C3 76 | 0,7 |1 1] 25 28 380 |4(e)| CPB |BcuxaHHsa 35
DdeHeBnUbKe 49 4 2,6 10C3+bn 51 108 )1a| 23 24 390 |4(e)| CPB |BcuxaHhsa 30
deneBnubKe 49 9 3 10C3 76 | 0,8 | 1a| 27 32 480 3 CPB | BcuxaHHs 40
®deHeBUUbKE 49 | 18 | 2,9 10C3 8 (07 {1 27 32 460 3 CPB | BcuxaHHa 50
deHeBUUbKE 491 20 | 0,5 10C3 831|107 1| 27 36 420 3 CPB | BcuxaHHAa 36
deHeBUUbKE 451 27 | 14 10C3 76 | 0,7 { 1a| 27 28 420 {4(e)|{ CPB [BcuxanHsa 40
deHeBUUbKE 49| 34 | 1,4 10C3 76 | 0,7 | 1a| 27 32 440 3 CPB | BcuxaHHA 40
deneBuupke | 491 42 | 1,8 10Cs 76 10711} 26 28 400 3 CPB | BcuxaHHA 30
deHeBULbKE 54 2 11 10C3+bn 71 | 0,7 | 1| 22 26 330 |4{e)| CPB |BcuxaHHn 35
deneBnupke | 541 4 | 115 10C3+6n 711081 11} 25 28 410 |4{e)| CPB ]BcuxaHHs 30
deHeBULUbKE 54 9 |145 9C31bn 71 1 08 | 1| 23 28 350 |4{e)| CPB |BcuxaHHn 40
deneBuypke | 55 1 1114 10C3+6n 71 [ 0,7 {1 22 26 350 |4{e)| CPB |BcuxaHHs 30
®enesnubke | 55| 4 12 10C3 74 1 08| 2] 22 | 24 380 |4(e)| CPB |BcuxaHHA 25
deHeBUUbKE 55 8 | 16,5 10C3 74 1 081 2 ¢ 22 24 370 |4{e)| CPB ]BcuxaHHn 30
Genesuupke | 64 | 13 7 10C3 60 1 08| 1| 22 24 360 |3(e)|] CPB |BcuxaHHA 25
deHeBULbKe 64| 15 | 2,9 10C3+6bn 81 1071} 24 | 28 360 |3(e)| CPB |BcuxaHHs 20
deHeBUUbKE 74 | 15 | 11,2 10C3 76 { 0,8 | 1| 25 32 410 !4(e)| CPB |BcuxaHHs 30 o
deHeBUUbKE 87| 16 | 4,2 10C3 5108117 19 22 300 |3(e)| CPB {|BcuxaHHA 30 é
®deHesuULbKe 89 6 20 10C3k+bn 5 1081 1| 20 24 320 | 4{e)| CPB |BcuxaHha 40 g




®PeneBuubke | 90| 9 14 - - - 10C3K+Bn 55 [ 08) 2| 18 24 280 |[4(e){ CPB |Bcuxauus 30 @
®eHeBuubke | 90| 10 | 4,9 - - - 10C3k 59 [07¢(1{ 21 24 300 |4(e){ CPB |BcuxaHHa 40 2
deHeBULbKE 94 1 21 - - - 10C3K 50 | 0711} 21 26 310 |4(e)| CPB |BcuxaHHA 25 g
deHeBuUUbKe 95 9 1,5 - - - 10C3 81 { 05| 1] 26 32 290 | 3(e)| CPB |[BcuxanHa 40 2
deHeBUUbKeE 97 1 9,7 - - - 10C3k+bn 51 (07 ] 2| 17 18 220 {4(e)| CPB |[BcuxaHHA 35 Z
PeHeBuubke | 98 | 13 15 - - - 10C3«k 51109{1}] 18 | 18 320 |[4(e)| CPB |[BcuxaHHn 35 S
®eHesuubke |107| 5 25 - - - 10C3k 58 106 |1 20| 24 240 |4(e}| CPB |BcuxaHhs 20 %
PeHeBuupbke [107] 6 [ 104 - - - 10C3K 58 107 (1] 20| 22 280 |4(e)| CPB |BcuxaHHa 35 8
PeHeBuUbKke |111] 2 24 - - - 10C3k 5 |1 08[1] 20 22 300 |4{(e)| CPB |BcuxaHHs 30 o
denesuupke |111] 5 | 33 [ - - - 9C3k1bn 57 105 (1] 21| 22| 200 [4(e)]| CPB |Bcuxanua 40 s
Odenesuupke |114] 1 | 385[ - - - 10C3 76 | 0,7 |1a| 27 | 32 | 420 |a(e)| cPB |Bcuxanua 30 o
deHesuubke 120 3 5,9 - - - 10C3 76 | 0,7 | 1a]| 27 32 430 {4(e}| CPB |BcuxaHHa 40 g
®PeHeBuubke | 120} 13 13 - - - 10C3 61 | 0,8 {1la| 24 26 410 |4(e)| CPB |BcuxaHha 25 o
®eHeBnupke |120| 14 11 - - - 10C3 61 | 0,7 1la| 23 26 360 |4{e)| CPB |BcuxaHhs 27 g
®denesuypke |[126] 13 | 4,9 - - - 10C3 71 | 0,7 [1la| 26 32 400 |4(e)| CPB |BcuxaHHs 30 ™
QeHesuupke |[126] 23 | 2,3 - - - 10C3 5 | 07| 2| 17 22 210 |4(e)| CPB |BcuxaHHa 20
®enesuupke |[126] 24 | 4,2 - - - 10Cs 71 1 06| 1| 23 32 290 |4(e)| CPB |BcuxaHhs 30
®eHeBuubke |126] 25 | 1,9 - - - 9C31bn 56 | 07| 1] 21 26 280 |4(e)| CPB |BcuxaHHa 23
PeHeBnubke |127] 8 3,3 - - - 10Cs3 71 [ 0,7 ] 1| 25 28 410 {4(e)| CPB |BcuxanHa 25
®eHeBuubke |128] 7 16 - - - 10C3k 61 | 06| 1| 22 26 280 |[4{e)| CPB |BcuxaHHA 40

OpaHcbKke 351 2 |36,7] (1) |34,9] 349 10C3 61 | 08 1] 21| 26 340 |4(e)| CPB [BcuxaHHa 30

OpaHcbKe 36| 10 | 3,6 - - - 10C3 61 1 081 20 | 22 320 |4(e)| CPB |BcuxaHHA 20

OpaHcbke 25 2 1197 - - - 9C316n 56 1 0,8 (1] 20 20 310 |4(e){ CPB |[BcuxaHHA 25

OpaHcbke 0 | 17 | 17,5] - - - 10C3 61 (08| 2| 18 18 280 |4(e){ CPB |BcuxaHHnsa 25 o 2 5 =
OpaHcbKe 19| 12 | 253 - - - 10C3 66 | 08| 11| 22 | 28 380 |{4(e)| CPB |BcuxaHhs 25 S 2 g 3
OpaHcbre 19 8 15 - - - 10C3 58 108 ) 1| 22 26 370 |[4(e)| CPB |BcuxaHHsA 30 i g S :>:
OpaHcbKke 381 3 |11,9] - - - 10Cs3 59 |08 2] 18 | 20 | 280 [4(e)| CPB [Bcuxannn 30 s = 9

Bcworo: - - (15494 - - - - - - - - - - - - - -
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